OBELBIHERUVBHEONRILFMERIRFHER

BE - BEISERIDOKE (Og)
% 1 - 2 %B {‘ z \ é%*ﬁ
(1 /14R=2)
stgimE REBEFL) L2 () BRI () HHHIR (ka/ 5 414978 idng-TEQ/ ) BIE Ko/ T v
-1
B K& Ejj%
T Tk AE
g ME £ gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
5 w | B
1| FERD KBS 62 9 88 1 62 0 0 63 9 1 10 14 9564 0 0 9578 29932 5 29937 39515
odl7oyL7s R 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 35 0 35 35
4|75 U LR T DA 4 2 5 4 0 0 0 4 2 0 2 61 0 0 0 61| 61006 o] 61006 61067
6|74 JIEE2 —E ROFSITFIL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
NF7o L L<i—TFIL 4 3 4 4 0 0 0 4 3 0 3 689 0 0 0 689 147 0 147 836
sl7o I LEEXFL 1 0 1 1 0 0 0 1 0 0 0 120 0 0 0 120 0 0 0 120
7o yo=KNYJL 5 4 7 5 0 0 0 5 4 0 4 5120 0 0 0 5120 23210 0 23210 28330
wrosaoLqdy 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1300 0 1300 1300
7o+ U ™S A 0 i 1 0 0 0 0 0 1 0 1 0 0 0 0 0 9800 0 9800 9800
2l7& r7zEe R 4 0 4 4 1 0 0 5 0 0 of 478 6900 0 o 11681 0 0 o] 11681
BlF7Er=MY )L 6 9 12 5 1 0 0 6 9 0 9 1905 3 0 0 1908 474130 0 474130 476038
6[2, 2' —FJERAYTFO= UL 0 1 4 0 0 0 0 0 1 0 1 0 0 0 0 0 6 0 6 6
18l7=1 v 2 3 5 2 1 0 0 3 3 0 3 635 35 0 0 670 41010 0 41010 41680
2002—73)xTH9)—)L 3 3 6 1 2 0 0 3 3 0 3 1 3203 0 0 3204 286016 0 286016 289220
8|7y LTI a—) 1 0 2 1 0 0 0 1 0 0 0 9 0 0 0 9 0 0 0 9
30| EEHT) [,:\:)[,/\“y-gy;()[{,j:ygg& TCFD 2 2 5 0 2 0 0 2 2 1 3 0 1200 0 0 1200 1802 0 1802 3002
B (TILFILEQRFEN 1 00514 &
TREDRVZDEGYICRS, )
N7 UVFEVRUVCFDIEEY 1 7 9 0 1 0 0 1 7 0 7 0 75 0 0 75 2367 0 2367 2442
RYA D S & < 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 370 0 370 370
B /L 0 4 4 0 0 0 0 0 4 0 4 0 0 0 0 0 45520 0 45520 45520
Uz3—qveFFrxFIL—3, 5, 5—h 0 2 3 0 0 0 0 0 2 0 2 0 0 0 0 0 452 0 452 452
YXFILSIONEIL=AYSTE—b
AV TLY 1 0 2 1 0 0 0 1 0 0 0 ¥ 0 0 0 11 0 0 0 1
374, 4’ —qvyTOrYTY r/)—)L 0 2 4 0 0 0 0 0 2 0 2 0 0 0 0 0 80 0 80 80
(RlEERT7T/—IA)
HHEE : fH0AFE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - BEVERIDSESET (lLER)
xR1-2 #HEFRR - £2%E
(2 / 14R=2)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
Hri- T
E | T Tkl o
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= wo| @ B
Bl2, 20 = (yvyForysEvex [ (2 0 1 1 0 0 0 0 0 1 1 0 0 0 9 0 9 9
, 6-Y70FE—4, 1-7z=LV) #
X211} T8 /—)
N3 —qyFaRFv—2—-ry7)L40 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
?%w&yX7:UF(%%7wh5:w
R2—AZFIVIVvFAY 1 0 1 1 0 0 0 1 0 0 18 0 18 0 0 0 18
Bl ARTZFDIEEY 0 1 1 0 0 0 0 0 1 1 0 0 0 84 0 84 84
sty FA—)L 1 0 1 1 0 0 0 1 0 0 7 0 7 0 0 0 7
#/|lTF)=2—[4— (6—OQO—2—% 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
JEYYIAXY) 7/ %] TOE
AF—b BEFHORY TTFI)
Bl0O—ITF)I=0—-4—=—rAT7zT=-)l=7 1 0 70 0 1 0 0 1 0 0 0 22 22 0 0 0 22
IZWHKRRAR/FAT—b (BIBHEPN)
51{2 — T FIAFH B 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BlzFIIRVEY 164 35 174 164 2 0 0 166 35 35 331932 1230 333162 120709 0 120709 453871
56|TFL AFTRN 3 0 3 3 0 0 0 3 0 0 366 0 366 0 0 0 366
OTFLVYITIV 4 0 4 3 2 0 0 5 0 0 2918 9100 12018 0 0 0 12018
0| TFL o7 I EEER 0 2 2 0 0 0 0 0 1 2 0 0 0 750 22 772 772
64[2— (A—ThFTTxT=J) —2—XF 0 1 1 0 0 0 0 0 1 1 0 0 0 75 0 75 75
NFOEL=3—-Jx/FIRVIIIIT—
T BIET I FAOYIR)
ss|lcEsome RY Y 2 5 6 2 0 0 0 2 5 5 1710 0 1710 233220 0| 233220| 234930
68[1, 2—TR*> Oy (BIEEETO 2 1 2 2 0 0 0 2 1 1 4230 0 4230 1200 0 1200 5430
ELy)
69|12, 3—TRFLSOCNL=7z=)LT— 0 1 2 0 0 0 0 0 1 1 0 0 0 1300 0 1300 1300
T
ML E=8% 0 3 10 0 0 0 0 0 3 3 0 0 0 185200 0 185200 185200
BN1—-—F94%)—)L 0 1 2 0 0 0 0 0 1 1 0 0 0 1 0 1 1
TANRS—FOFILT7x/)—)b 0 2 2 0 0 0 0 0 2 2 0 0 0 367 0 367 367

HHEE : fH0AFE




OBELBIHERUVBHEONRILFMERIRFHER

1. B - BEVERIDEE (lLAE)
xR1-2 #HEFRR - £2%E
(3 / 14R—=2)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
B -7
g | T Tk o
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw

= £/ B e
75|50 RIY ARGZDILEY 6 3| 74 1 5 0 0 6 3 3 7 12 18] 24109 ol 24109 24127
|4 7oAy —HhTOSI Y A 4 5 5 2 2 0 0 4 5 5 41| 51500 51541| 560530 0| 560530| 612071
8o|F> LY 272| 48| 284 272 4 0 o] 276 48 48[ 545937 2549 548486| 274831 o| 274831 823317
sil£/ 1y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
82[sE RO F DACEMAL Y 1 1 1 0 1 0 0 1 1 1 0 14 14 290 0 290 304
[ x> 7 3 9 7 0 0 0 7 3 3 800 0 800 1539 0 1539 2339
8417 F FH—J 0 1 3 0 0 0 0 0 1 1 0 0 0 280 0 280 280
85| LT ILFE R 0 1 1 0 0 0 0 0 0 1 0 0 0 0 30 30 30
86[s L —IL 4 2 6 3 1 0 0 4 2 2 18] 3500 3618 88031 o 88031| 91649
8717 O LRV =i 7 O LMEEY) 15| 14| e8 5] 12 0 ol 17| 14 14 657 217 873| 3682653 0| 3682653 3683526
88|5Ei 2 O b2 ik 2| 7 3 9 0 o 12 2 2 7 15 22 6500 0 6500 6522
glsonr7=y>y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
91|2— (4—4OA—-6—TFILF7I/—1 0 1 1 0 0 0 0 0 1 2 0 0 0 8 2 9 9

, 3, B=RUFPIV—-2—-AJ) 7/

—2=XFLTOEF/=r)IL (BB

7rIY)
Blo—soO—2" —TFI-—N— (2—x 0 1 1 0 0 0 0 0 1 2 0 0 0 2 0 3 3

MY =T —=XAFIITFI) —6 —AF

VWT7Eb7ZYR Bl&AXZ70-)L)
ulyooTFLy (BLELE=IL) 4 1 6 4 3 0 0 7 1 1| 48200 2390 50590 220 0 220( 50810
9|/ OB T F I 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
10alpoos7)40x4> (BIZHCFC— 4 1 5 4 0 0 0 4 1 1| 25153 0 25153 81 0 81| 25234

22)
w6|lsoo k) 7040T4 Y (RIZHCFC 1 1 1 1 0 0 0 1 1 1[ 51000 0 51000 3300 0 3300| 54300

—133)
108| (RS) —2— (4—s0O0—#J)L k= h 0 1 1 0 0 0 0 0 1 2 0 0 0 0 0 1 1

VILAFY) FOEFVE (Bl&x270

v 7)

HHEE : fH0AFE




OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (lLAE)

x1-—2 EWEFRG - 2%
(4 / 14R—3)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
PE -8
B K& g%
T K3 =5
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= wo| & BE
13|12—»00—4, 6—ER (ZTFILFTI/ 3 0 70 0 3 0 0 3 0 0 0 0 1 0 0 1 0 0 0 1
) =1, 3, 5-bUTIY (REITY
YXIFCAT)
M7\ (RS) —1—-N">5—soO0O07zxz=J)L—4 1 1 1 0 1 0 0 1 1 0 1 0 0 0 0 0 500 0 500 500
, 4=V AFIL—-3— (1H=1, 2, 4
—hU?V—»—1—4»X%»)&y9
-3 —Fd—) BIHTTIAFV L)
121lXs—som7x/—JL 1 1 1 0 1 0 0 1 1 0 1 0 84 0 0 84 1000 0 1000 1084
122 —snn7OE4 Vg 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
125y oORyEY 1 2 3 1 1 0 0 2 2 0 2 61000 910 0 0 61910 86000 0 86000 147910
12717 08Kk A 7 7 10 7 1 0 0 8 7 0 7 11460 10000 0 0 21460 104960 0 104960 126420
128|100 X% > (Bl&EE{EXFIV) 2 1 4 2 0 0 0 2 1 0 1 19000 0 0 0 19000 8800 0 8800 27800
1323/ NRUOFDILEEY 1 9 15 0 1 0 0 1 9 0 9 0 0 0 0 0 6128 0 6128 6128
134 |EEE =)L 3 1 3 3 1 0 0 4 1 0 1 7645 6000 0 0 13645 0 0 0 13645
1B5[HE 2 — X ¥ T FIL (BRI FLVYT 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
JA—WE/AFINI—FINTEFT—H)
136141 FILT7ILFE R 1 0 1 1 0 0 0 1 0 0 0 1 0 0 0 1 0 0 0 1
14314, 4’ -7 )97z )bz—FI 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 460 0 460 460
V44| 7 b B (BBIERUVY 7 VERIES n 2 72 0 n 0 0 1 2 0 2 0 22 0 0 22 4410 0 4410 4432
BR<. )
145|2 — (STFIFI)) TH)—I 0 2 3 0 0 0 0 0 2 0 2 0 0 0 0 0 7762 0 7762 7762
147IN, N=YIFILFAAILNIVEES—4 6 0 70 0 6 0 0 6 0 0 0 0 4 0 0 4 0 0 0 4
—yOnRY YN (RIEFARYANTX
BRXVFAH—T)
149\t ik 3= 4 2 73 2 2 0 0 4 2 0 2 225 0 0 0 225 40000 0 40000 40225
150(1, 4 —AFH> 15 5 71 3 14 0 0 17 5 0 5 6300 12208 0 0 18508 134820 0 134820 153328
182|1, 3= HINEASILFA—2— (N, 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 720 0 720 720
N=YXFILTI/) —Fanry (Bl&A
W)
1BAl yONFUIVT IV 2 1 3 1 1 0 0 2 1 0 1 81 3 0 0 84 14 0 14 98

HHEE : fH0AFE



OBELBIHERUVBHEONRILFMERIRFHER

B - BENSERIDRE (lwAK)
% 1 - 2 %B {‘ /\ é%*ﬁ
(5 / 14R=2)
sEmE BEFLIE () T ) BB () HEHR (ko4 5" 41493 3ng-TEQ/ ) BHE e/ IR
HR -7
® i =
T K3 AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= L i &
157(1, 2—=Yyyp0QxT¥d > 6 4 74 4 5 0 0 9 4 4 18902 1499 20401 104750 0| 104750| 125151
15881, 1—ysnO0xFL Yy (BIBEIEE= 7 ol 7 1 6 0 0 7 0 0 36 1 37 0 0 0 37
V)
189 2—1, 2—=YyO00TFL Y 8 o 7 1 7 0 0 8 0 0 49 1 50 0 0 0 50
160(3, 3° —vypon—4, 4 —-YF73) 0 2 2 0 0 0 0 0 2 2 0 0 0 304 0 304 304
TITZIAE Y
168[3— (3, 5—<sO@7zT=J)L) —N— 1 1 1 0 1 0 0 1 1 1 0 0 0 610 0 610 610
AV 7REL—=2, 4—9IFFV(1I8Y
YIOv—1—-ANRFHFIF (BlE1 70
oAY)
1693 — (3, 4—<sO@7T=JL) —1, 0 1 1 0 0 0 0 0 1 2 0 0 0 67 4 7 7
1 =YXFILER®R (Fl&YrnrXiEDC
MU)
1743 — (3, 4—ys 007z =)k) —1— 0 1 1 0 0 0 0 0 1 2 0 0 0 6 1 7 7
X)I\=\‘—°/—1 —AFIVERE (Bl&Y =20
pa
178[1, 2—vono7a/sy 1 1 1 1 0 0 0 1 1 1 400 0 400| 100000 0| 100000 100400
179(1, 3—<sopn7>OoRy (AIZLD—D) 2 o 70 0 2 0 0 2 0 0 0 0 0 0 0 0 0
BilysoaNy€y 4 4 5 4 1 0 0 5 4 4 290 300 590 20020 o| 20020 20610
1882, 6—voroa~RvyY=rYl (BLY 0 1 1 0 0 0 0 0 1 2 0 0 0 19 2 21 21
JOR=JJLXIFDBN)
186l rmaxsyy (REELEXFLY) 19 | 83 12 7 0 o 19 11| 65659 1 65660 315304 0| 315304 380963
189N, N=UooOnFII—2-RVJF 0 2 2 0 0 0 0 0 2 2 0 0 0 3600 0 3600 3600
PY—WRIVITVFTIR
10|y yaRyEITY 2 0 3 2 0 0 0 2 0 0 27 0 27 0 0 0 271
1911, 3—YUFASVv—2—4q))FvvOyv 0 1 1 0 0 0 0 0 1 2 0 0 0 2 0 3 3
%ﬁ4v7u€»(%%4v7u%jsy
97| F 4 Y ABRO, O—CXFJ—S—1, 0 1 1 0 0 0 0 0 1 1 0 0 0 63 0 63 63
2—EZ2 (ZhFTALKRZJL) TFI (
BIBRZYYRERFFA V)
200=hO kT 1 1 1 1 1 0 0 2 1 1 10 59 69 3500 0 3500 3569
PRHFE : SH0AFEE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - RBEDERIDKE (LAR)
xR1-2 #HEFRR - £2%E
(6 / 14R—2)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
-1
B K& EJ%
T Tk AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 w | B
201|2, 4—v=rO7z/—J 1 1 2 0 1 0 0 1 1 0 1 0 170 170 46 0 46 216
e RvEY 1 1 2 1 0 0 0 1 1 0 1 12 0 12 75 0 75 87
03[ o=y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
204|171 T —FI 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
205|1, 3—Y 7= )WIT7=VY 0 2 3 0 0 0 0 0 2 0 2 0 0 0 1530 0 1530 1530
20712, 6 —Y—49—v ) —TFIL—-4—-4 0 2 6 0 0 0 0 0 2 0 2 0 0 0 56 0 56 56
LY—b
208[2, 4=V —=H—v)—=TF)Tz/)— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 240 0 240 240
W
212| (RS) —0, S—=UAFI=FEFILK 0 1 1 0 0 0 0 0 1 0 1 0 0 0 260 0 260 260
i¢w7sk%17—h(%%7t71—
213|N, N=UAFLFERTIR 3 4 5 3 0 0 0 3 4 0 4 2902 0 2902| 659000 o| 659000 661902
215[2, 6—UXFILT=Y Y 0 1 1 0 0 0 0 0 1 0 1 0 0 0 6600 0 6600 6600
28| XFITIY 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20| X FIT 2N T 1 R 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20| XA FILSF A AILNI VEROKEME 0 1 2 0 0 0 0 0 1 0 1 0 0 0 1200 0 1200 1200
22, 2—vxFL—2, 3—-vEerO-1 0 1 1 0 0 0 0 0 1 1 2 0 0 0 1 1 12 12
=RV IS0 —=T—=4)L=N— [N— (
2-—ThFYHIKRZILVIFI)) —N—A
VZ7OENRIL T T FEAIN] —N-AF
WANNT—b (BIBERYTSHINT)
223|N, N—SAFIRFUJLTIV 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
24N, N—=UXFIRFUILTIV=N—+ 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FUR
230|[N— (1, 3—IX FILTFI) =N — 1 3 4 1 0 1 0 2 3 0 3 0 0 0 13214 0 13214 13214
2T W=—NF—-Tx=LVITIY
232IN, N=IXFIHRILLT IR 12 13 16 12 1 0 0 13 13 0 13 138646 1900 140546 923400 0 923400 1063946
234|BF= 3 1 5 3 0 0 0 3 1 0 1 644 0 644 1100 0 1100 1744

HHEE : fH0AFE




OBELBIHERUVBHEONRILFMERIRFHER

1. HEH - BESERI DKE (lLER)
x1-2 #MERFRG - £%E
(7 / 14R=2)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
Bt 7
E | T ki a9
7 9a
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= | & B
235| R REL DK MR 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
237|7KE RV F DL 14 11 8 14 1 0 of 15 1 1 76 0 76 1300 0 1300 1376
238|kZF=ETFIL 7=V 0 1 1 0 0 0 0 0 1 1 0 0 0 440 0 440 440
29| B2 (&Y 0 2 3 0 0 0 0 0 2 2 0 0 0 283 0 283 283
20|12 F LV 15 7 16 14 2 0 0 16 7 7 35817 990 36807 42782 0 42782 79589
22|z L Y RUZFDIEEY 4 of 70 0 4 0 0 4 0 0 0 1 1 0 0 0 1
243| 4 S UH 69 28 79 45 36 0 0 81 28 30)2933.7930|236. 37066 3170.1637]9395. 1387  0.00016(9395. 1389 12565, 302
T1AxY VR 81 368 4468 9297 5297| 69765
2042 —F A XY -3, 5—IUAFIFRSE 0 2 2 0 0 0 0 0 2 2 0 0 o| 24600 0| 24600 24600
FO—2H-1, 3, 5=-F7I7IV (
BT Ay b)
245|F # FR3%=& 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
26| F A7/ —I)L 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
288|F A4 V) ALEEO, O—SITFI—0— (2— 0 1 1 0 0 0 0 0 1 1 0 0 0 57 0 57 57
AVTAEL—6—XFI—4-E)IY
V) BIERIATI V)
BINFAYAEEO, O—IAFIL—0— (33— 0 1 1 0 0 0 0 0 1 1 0 0 0 260 0 260 260
AFN—4—-=tO7z=)l) (Bl&7x
—hOFFYRIIMEP)
257FoFa—IiL (ME5THh ) —I) 1 1 1 1 0 0 0 1 1 1 0 0 0 750 0 750 750
25811, 3, 5, 7—5FhrS7HRNYIoO [ 0 3 4 0 0 0 0 0 3 3 0 0 0 770 0 770 770
3.3.1.1(3,_7)]7AY (Bl
NEYAFLYTESIY)
29F RSTFIFISLIRILT 4 K (BE 1 2 5 1 0 0 0 1 2 2 25 0 25 842 0 842 867
J2INT 4 TL)
260l hSoOOq4yv7aO=rYJI (RZH 0 1 1 0 0 0 0 0 1 1 0 0 0 41 0 41 41
HA%O=)XIFTPN)
26114, 5, 6, 7T—Fh>o004YRVY 0 1 1 0 0 0 0 0 1 1 0 0 0 410 0 410 410
i?y—1(3H)—#>(%%7ﬂ54
202|> ho7OO0TFLY 3 1 73 1 2 0 0 3 1 1 1000 0 1000 13 0 13 1013
PRHFE : SH0AFEE




OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (lLAE)

x®1-2 #ERRR - £XiE
(8 / 14rR—%)

stgimE REBEFL) L2 () BRI () HHHIR (ka/ 5 414978 idng-TEQ/ ) BIE Ko/ T v
-1
B K& Ejj%
T Tk AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 w | B
266[2, 3, 5, 6—FrST)AO—4—X 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 32 0 32 32
FIRYI)= (Z) —3—- (2-400
-3, 3, 3-hNYZAO—-1-7AOR
=) =2, 2=UXFLioaSOnsy
ANREFSS—b BIBF TN Y)
267|3, 7, 9, 13—=F KRS AFI—5, 1 1 1 1 0 1 0 0 1 1 0 1 0 0 0 0 0 2 0 2 3
1 -URF -2, 8, 14— KYF7—
4, 7, 9, 12=FKST7HYRVEITH
-3, 12-vIv=6, 10-Y%4>(
BlEFATHIT)
68[F RS XFILFHISLTUZILT 4 K (BIE 6| 3] 5 1 5 0 0 6| 3] o] 3 4 1 0 0 5| 1061 of 1061 1066
FOSLREFSL)
270|157 L 7 9 LB 0 2 4 0 0 0 0 0 2 0 2 0 0 0 0 0 555 0 555 555
2INNF L 79 IVBES X FIL 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 32000 0 32000 32000
22sEaka e (SEEARC, ) 21 s| 79| o] of of 2] s of 6 0 940 0 0 40| 17136 of 17136] 18076
23|11 = RFH /=L (BIZ/IL<I— RFS 0 1 3 0 0 0 0 0 1 0 1 0 0 0 0 0 14 0 14 14
LTI a—I)
s —v v ) —REHVFF—I 3 0 3 3 0 0 0 3 0 0 0 183 0 0 0 183 0 0 0 183
25| RFUILERERF N U™ A 1 1 3 0 1 0 0 1 1 0 1 0 1700 0 0 1700 16 0 16 1716
2763, 6, 9—NUTFPHHYYTAHY—1, 1 1 0 1 1 1 0 0 2 0 0 0 6 1300 0 0 1306 0 0 0 1306
1—? 7V BIATRSITIFLIYRYY
71| Ny TFLT I 3| 7] 8] 3 0 0 0 sl 7] o] 7 779 0 0 0 79[ 14079 o| 14079 14858
78| N TFLYF ARSIV 1 0 1 1 1 0 0 2 0 0 0 8| 2900 0 0 2908 0 0 0 2908
29(1, 1, 1—rysOOTod Y 7 ol 7 1 6 0 0 7 0 0 0 480 3 0 0 483 0 0 0 483
28011, 1, 2—NYvOQxT¥dY 5 1 n 1 5 0 0 6 1 0 1 14000 940 0 0 14940 30000 0 30000 44940
21|y OO0 FL Y 5 2 74 3 2 0 0 5 2 0 2 36560 0 0 0 36560 75000 0 75000 111560
288y somIFOxSY Y (RZCFC— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 2000 0 2000 2000
11)
2891, 2, 3—hYyvooFaonry 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 840 0 840 840

HHEE : fH0AFE



OBELBIHERUVBHEONRILFMERIRFHER

e - BEDSERI DS (uag)
x1 -2 #HEFRR - £%7E
(9 / 14_R—=2)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
B - %
B k& Eij%
T K =K
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= Y E BE

291(1, 3, B—hYR (2, 3—TRESS 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 7400 0 7400 7400

ogln) —1, 3, 5—frYy7vr—-2,

4, 6 (1H, 3H, 5H) — kYA
22| Y TFILTIY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 9000 0 9000 9000
237 T 7, PILTT, FILT7—RNYTI 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1300 0 1300 1300

A0-2, 6—Y=kO-N, N=U70

EI—n_Z—hML1PY (BIEMNY TS

)
206(1, 2, 4—=KNUYXFIRVEY 215 15 231] 215 2 0 o] 217 15 0 15 63093 190 0 0 63283 8802 0 8802 72085
29711, 3, B—RFNUYXAFIRVEY 85| 1| 1471 &5 1 0 of 8| 11 of n 14863 0 0 of 14863 2388 0 2388 17252
298| N LYSA YL T R— R 2 2 3 2 0 0 0 2 2 0 2 4 0 0 0 4| 4s004 of 4s004| 48008
29| M LA S 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0|~y 274 so| 278 274 6 0 0| 280 50 0 50| 1102061 17000 0 0| 1119061| 1460116 0| 1460116 2579178
V| LTV TIY 1 1 2 1 0 0 0 1 1 0 1 2 0 0 0 2 2400 0 2400 2402
302|745 LY 5 3 9 5 0 0 0 5 3 0 3 296 0 0 0 296 3495 0 3495 3791
30444 1 2 3 1 0 0 0 1 2 1 3 7 0 0 0 7 3020 35 3055 3062
305 (88L& o 10 &2 1 9 0 of 10| 10 of 10 5 146 0 0 151 312050 of 312050 312201
307|ZRCBIETIIN =D A 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
308|=w AL 3 5 1 3 0 0 0 3 5 0 5 2 0 0 0 2 9852 0 9852 9854
309| = w 4~ Lt of 18] 21 2 7 0 0 9 18 of 18 158 8848 0 0 9006 411983 of 411083] 420989
MRS —=—fbOsoORVEY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 58 0 58 58
|l bRy EY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 8300 0 8300 8300
8= mEibiRs 2 0 2 2 0 0 0 2 0 0 o| 170045 0 0 of 170045 0 0 of 170045
RN F Y LbEY 0 4 6 0 0 0 0 0 4 0 4 0 0 0 0 o 500146 o| s00146] 500146
3232, 4—E2R (Ia’-b I)) —6—AF 0 1 1 0 0 0 0 0 1 1 2 0 0 0 0 0 8 2 9 9

LFA—1, 3, 5—rJTPVY (BB

XhY)

BRI © SRI04GERE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEVERIDEE (lLAE)

R1—-2 #HERFRR - 2%
10 / 14R—30)

REL RS EHTH) HEH 2 () BRI H() SR (ko/ 29" 4449V idng- TEQ/ ) BHE e/ IR
B
B N TKiE Eﬁ%
meE T 5 | 2@ - 5 | m=m | THF 5 =E
= WAL et | B | 26 | ks | ok | 1w | sew | 2 ait | *% + | A o | a1
3B (8—%/U /SN 48 (Blat+ 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 25 0 25 25
X 3 )
328[E 2 (N, N=UAFISFAFAINIY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B) min (AlBY5 L)
329[E 2 (N, N=UAFISFAHINIY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 3 0 3 3
B) N, NN —IFLYER (FFALN
;E'f)lﬁ'-ﬁ'ﬁﬁ’u‘) (BIBRY A—/X—
B[R (1 —XFI—1—TJx=ZI)LITFI) 1 0 1 0 1 0 0 1 0 0 0 0 8 0 0 8 0 0 0 8
=~ AEVE
3R|WERVZ DERLESY 8 2| 7 1 7 0 0 8 2 0 2 5 21 0 0 26 849 0 849 875
33|k kST Y 5 2 9 1 5 0 0 6 2 0 2 20 52 0 0 72 2101 0 2101 2173
3Bl FOF/ v 1 1 4 0 1 0 0 1 1 0 1 0 170 0 0 170 3700 0 3700 3870
KL} Ny B ity | 2 1 0 2 1 0 0 0 1 0 0 0 3 0 0 0 3 0 0 0 3
MRSV 2 2 2 2 1 0 0 3 2 0 2 29 260 0 0 289 28008 0 28008 28297
Mlrohnra—iL (Blgh>a—IL) 1 1 1 0 1 0 0 1 1 0 1 0 6 0 0 6 2300 0 2300 2306
MIIN—T7zz=Z)LY LM IR 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Ml7xz=ZLVITIY 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 5800 0 5800 5800
M7/ —I)b 7 7 13 7 4 0 0 n 7 0 7 2060 581 0 0 2641 1325582 0] 1325582 1328223
/|3 —Tx /) FORYSIL=3— (2, 2— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 22 0 22 22
JooOE=L) —2, 2=IUXFILTY
B7aRYANEFSS— b (BRI X
by V)
3B11, 3—T4T Ty 4 0 4 4 1 0 0 5 0 0 0 5303 1400 0 0 6703 0 0 0 6703
32|17 BT YL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 15 0 15 15
353|7 HILEES T FIL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1200 0 1200 1200
3B4| TGS — ST —TFI 1 1 3 1 0 0 0 1 1 0 1 3 0 0 0 3 1600 0 1600 1603
BBIT7YIEER (2—ZTFI)ILAFIL) 2 6 7 2 0 1 0 3 6 0 6 50 0 0 0 51 10560 0 10560 10610

HHEE : fH0AFE



OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - BEVERIDSESET (lLAE)
xR1-2 #HEFRR - £2%E
(11 / 14R=2)
sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
P75
g | T TokiE o
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= wo| & BE
360IN— [1— (N=/JITI—=TFILAIILN 0 1 1 0 0 0 0 0 1 1 0 0 0 290 0 290 290
EAN) —TH=-2-RYJALIFIYL
1 ARSI VEEXFIL (BIFEN/ I)L)
B17F)=(R) —2—[4— (4—->T ) 0 1 2 0 0 0 0 0 1 1 0 0 0 1 0 1 1
—2=27)A07z/F%Y) 7/ %]
)7°|:| Exr+—bt Bl&>N\OKY TTFI
66|y —> vy —TFI=b RORILAFT R 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
3|2 —9—2 v Y—TFTFJ—5— (4—4%— 0 1 1 0 0 0 0 0 1 1 0 0 0 170 0 170 170
Sy ) =TFIRVIIINFF) —4—-40
0-3 (2H) —BUSFI /Y (REEY
FRYV)
2IN=— (=% )=—TFIL) —2—-RVY 0 3 3 0 0 0 0 0 3 3 0 0 0 2970 0 2970 2970
FPYV—NANTTVTIR
374 3 o {EKE RV F DK AMEE 55 6 89 10 47 0 0 57 6 6 1731 29503 31234 20240 0 20240 51474
IBIN—T NFUAFI—2—-00-2" , 0 1 1 0 0 0 0 0 1 2 0 0 0 4 1 4 4
6 —VIFANTEINTZURN (BIETH
2a—Jb)
378N, N’ —=7aELYER (PFF AN 1 1 1 0 1 0 0 1 1 1 0 1 1 720 0 720 721
)syﬁé%) CHEIWDESY BlE7NERT
8|5 —TJOFE—3—tHVYY—-TFI—6 0 1 1 0 0 0 0 0 1 2 0 0 0 26 5 31 31
—AFI—1, 2, 3, 4=FrhZERD
EYIYv-2, 4-YF>Y (Bl&TOv
p2I2)
841 —TJoESO/NY 1 1 1 1 0 0 0 1 1 1 1100 0 1100 300 0 300 1400
B6|TOEXY Y (BIBERIEAFIV) 1 0 1 1 0 0 0 1 0 0 4400 0 4400 0 0 0 4400
BVINFHYAFLYITIY 1 1 3 1 0 0 0 1 1 1 570 0 570 1900 0 1900 2470
WPWIANFEHAFLY=UAYITER—K 1 1 3 1 0 0 0 1 1 1 440 0 440 86000 0| 86000 86440
321/ 1L Ib—~FH Y 202 10 204 202 0 0 0 202 10 10 291491 0 291491 546616 0 546616 838107
3B|RYFT =)L 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0
35| R JLA F Y ZHRERDKAMLE 0 1 3 0 0 0 0 0 1 1 0 0 0 230 0 230 230
HHEE : fH0AFE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - BEVERIDSESET (lLAE)
®1-2 #MEFRH -  £2XE
(12 / 14R—=Y)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
-7
BE kit Eij%
T K =K
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= k| B %E
3BINY)=s01) K (BIRBIERTYII) 0 0 ! 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
400(RvE Y 199 1| 265 195 7 0 o| 202 1 1| 26001 3139 0 29231 4600 0 4600| 33831
0111, 2, 4—RVYEYRNYAHILKRVEET, 0 2 3 0 0 0 0 0 2 2 0 0 0 0 307 0 307 307
2 —f®KY
4022 — (2 —=RYVFFYYJLAE£Y) —N 0 1 1 0 0 0 0 0 1 1 0 0 0 0 4600 0 4600 4600
—ﬁ?»7tb7:up(%%X7Ift
Y
40513 > =L &M 49 13| s 3 48 0 o 51 12 14 12| 22322 0 22434 21832 335 22167 44601
406|R)EIEETZ =)L (BI&PCB) 0 ol 70 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
WIRY) (FAFSIFLY) =7 LFILI—F 5 6] 12 1 5 0 0 6 5 6 1| 15332 0 15333 1468 8 1475| 16808
W (T FIVEORRHEN 1 20515 F
TOEDRVZDEGYICRS, )
408K (AF¥SIFLY) =49 FILT71= 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
LI—=FI)
409K (AFSIFLY) =RFUILI—F 2 1 2 0 2 0 0 2 1 1 0 5969 0 5969 6800 0 6800| 12769
NVREBTZTIVF R DA
40[RY) (AFSIFLY) =/=)T7T=)b 2 3 5 0 2 0 0 2 3 3 0 290 0 290 567 0 567 857
I—7)
MFILLTILTER 9 7115 8 2 0 o] 10 7 8 1498 560 0 20s8| 23911 54| 23965| 26024
N2(vrHYRUCEDILEY 33 24 98 8 25 1 0 4| 24 24 349 9838 43 10230| 1146371 0| 1146371 1156601
AN3||K T 5 IVEE 0 4 4 0 0 0 0 0 4 4 0 0 0 0 377 0 377 377
an4lmk< L4 Vg 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0
M5(X 55 LB 7 4 7 5 2 0 0 7 4 4 1629 6570 0 8199 5308 0 5308| 13507
46| A H Y JLEE2 —TFIAFII 0 1 1 0 0 0 0 0 1 1 0 0 0 0 68 0 68 68
NI xH LY LEE2, 3—TRF> IO 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N9 X HZHYIILEE I IILTIL—TFIL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
420|452 ) LEEAFIL 7 5 8 7 0 0 0 7 5 5 2239 0 0 2239 3739 0 3739 5978
4221 (Z) = 2" —XFLTEINIT/ V=4 0 1 1 0 0 0 0 0 1 1 0 0 0 0 140 0 140 140
, 6—UAFIL—2—-KEYITVZIERS
Vv B#H7YLVY)

HHEE : fH0AFE




OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (lLAE)

®1—2 IEERFRR - 2%7E
(13 / 14 —3)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
P75
g | T Tk o
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= wo| & BE
AB|IAFIVT IV 2 2 3 2 0 0 0 2 2 0 2 311 0 0 0 311 4420 0 4420 4731
A28IN =X FIAINI V2 —tEH VS — 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 14 0 14 14
TFN7z=) (BI&BT7 T/ THLTE
BPMC)
A2 XFN=3—-s0a—-5— (4, 6—IUX 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 67 0 67 67
=2 —-EUYITZJANNEAILR
LT 7EAN) -1 —XFNES =)l
4—ANERFTS—h (BlBNORILT0
YXFI)
B xF)= (E) —2— {2—[6—- (2— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 200 0 200 200
YT/ /FY) BYIVU—4 -4
ZFY] 7z} =3 —XAKFLTIY
Z—hF REF7YFLZ2bOEY)
6| I T 7 —AFILRAFL Y 4 2 5 4 0 0 0 4 2 0 2 358 0 0 0 358 315 0 315 673
ABIAFIFTHL Y 46 2 54 46 0 0 0 46 2 0 2 3254 0 0 0 3254 301 0 301 3555
M1 —XF)—1—F7z=)ITFI=k RO 1 1 3 0 1 0 0 1 1 0 1 0 41 0 0 41 13000 of 13000 13041
RVAEY R
M4 XF )= (E) =X R FUA(3I/)— (2— 1 1 1 0 1 0 0 1 1 0 1 0 0 0 0 0 270 0 270 270
{L({(E) =1=[3= (MYTLA
Dx%»)71_w]I%J%y}?s/
) AFT] XFI} TxZ)) FEEY—H
(%%hU?D#&thty)
46|14, 47 —AFLVITZYY 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 3800 0 3800 3800
MUIAFLVYER (4, 1=oO~NF LY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
) =UA VI TER—b
448 ;(9’—|,yt“7\ (4, 1—7z=LY) =¥ 1 5 9 1 0 0 0 1 5 0 5 17 0 0 0 17| 341380 0| 341380| 341397
1V TER—b
4550|N— (6—A RE—2—FUYTJI) —N 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 6 0 6 6
— X FIFAANNIVBEO—-3 -9 —:3
ﬁ?—?%»71:»(%%EU7%tw
7
B2(2 =X IVAT IRV FFTYI—)L 2 3 4 2 0 1 0 3 3 0 3 21 0 0 0 21 277 0 277 298
53| 1) TV RUCZDILEY 3 7 11 2 1 0 0 3 7 0 7 0 10 0 0 10] 20548 o| 20548 20558

HHEE : fH0AFE



OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEVERIDEE (lLAE)

R1—-2 #HERFRR - 2%
(14 / 14 —3)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
o
i B £ it | Bm | 20 | x5 | ok [ 1w | e | an % § ant| x5 [ B8P | tm | mu | em | E®D E;%ﬁ aar | O
455|EJRY v 1 1 3 0 1 0 0 1 1 0 1 0 1200 0 0 1200 0 0 0 1200
8l AR YR (2—TFIAEII) 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 o| 18200 o] 18200] 18200
460V ABERNY R YL 1 0 1 1 0 0 0 i 0 0 0 1 0 0 0 1 0 0 0 1
55t 2180 662| 4564| 1774 476 4 0| 2254 658 22 680| 3142537 256928 44 0] 3399509| 15410742 507| 15411249| 18810758

HHEE : fH0AFE




